
BSB

06/2020

INCLUDES: brass Mounting Collar, brass Cover, (3) 3/8 x 2-1/2” long stainless 
steel lag screws, (3) lag shields, (3) stainless steel set screws

INSTALLATION ON WOOD
1.	 Use the Mounting Collar to mark locations of the three mounting screws and 

hole(s) for the supply wiring.  (See illustration)
2.	 Drill holes for wires as needed and drill 15/64” pilot holes at the marked screw 

locations.
3.	 Secure the Mounting Collar with supplied 3/8” lag screws using a 9/16” socket/

wrench.
4.	 Pull supply wires and verify they are not energized.
5.	 Feed the wire leads from the fixture through the top of the BSB Cover, apply 

threadlock to the Base threads, and screw the Cover tightly onto the 1/2” 
threads in the bottom of the fixture.

6.	 Use silicone-filled wire nuts to join fixture leads to supply wires.  Use silicone or 
electrical tape around wire nuts to ensure proper connection.

7.	 Slide the fixture with the Cover attached straight down over the Mounting Collar.  
If the fixture is equipped with the Half Shield, orient the fixture so the light shines 
in the desired direction.

8.	 Alternately tighten the three set screws in the Cover with a 1/8” hex wrench.

INSTALLATION ON CONCRETE
1.	 Dig a hole at desired location at least 12” diameter x 12” deep and run conduit 

as necessary for power supply wires, using the Mounting Collar for positioning.  
Conduit should stick up above top of concrete 1/4”.  (See illustration)

2.	 Fill hole with concrete.  Double-check conduit location with Mounting Collar.
3.	 Once concrete is set, place Mounting Collar over conduit and mark locations for 

the three mounting holes.
4.	 Use a 5/8” masonry bit to drill a minimum 2-1/2” deep hole at each marked 

location and tap in the supplied lag shields.
5.	 Secure the Mounting Collar with supplied 3/8” lag screws using a 9/16” socket 

wrench.
6.	 Pull supply wires and verify they are not energized.
7.	 Feed the wire leads from the fixture through the top of the BSB Cover, apply 

threadlock to the Base threads, and screw the Cover tightly onto the 1/2” 
threads in the bottom of the fixture.

8.	 Use silicone-filled wire nuts to join fixture leads to supply wires.  Use silicone or 
electrical tape around wire nuts to ensure proper connection.

9.	 Slide the fixture with the Cover attached straight down over the Mounting Collar.  
If the fixture is equipped with the Half Shield, orient the fixture so the light shines 
in the desired direction.

10.	Alternately tighten the three set screws in the Cover with a 1/8” hex wrench.
808-405-6732 
www.BeachsideLighting.com

BSB COVER

LIGHTING FIXTURE
BEING INSTALLED

LAG SHIELDS

Apply thread-locking
agent (by others) to
male threads.

SET SCREW (x3)

MOUNTING
COLLAR

CONDUIT

CONCRETE

MOUNTING COLLAR
TOP VIEW

CONDUIT GUIDES

3/8" HOLES FOR
LAG SCREWS

LAG SCREWS



1

3

16

"

19

32

"

1

1

32

"

2

1

16

"

3X  Ø

13

32

"

3X 120°


